





FINAL IS COMING! €

e Material: Everything!

* Homework, Labs, Lectures, Textbook
 Wednesday, 3/20 in this classroom

e Starts at 8:00 AM **SHARP**

* Bring your UCSB IDs and arrive 10-15 minutes early

* Duration: 3 hours long (but really designed for 1.5 — 2 hours)
* Closed book: no calculators, no phones, no computers STU DY
* Allowed: 1 sheet (single-sided) of written notes

— Must be no bigger than 8.5” x 11” GU ' DE Now

— You have to turn it in with the exam

You will write your answers on the exam sheet itself. ON L' N E '

"N B A SRR A s -
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(1) keeps separate variables for each function call...

(2) remembers where to send results back to...

The stack is a special part of your computer’s memory.
The compiler usually spells-out how the stack must be used with functions.
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A child couldn’t sleep,
so her mother told a story about a little frog,
who couldn't sleep,
so the frog's mother told a story about

a little weasel
-..Who fell asleep.

-..and the little frog fell asleep;
-.and the child fell asleep.







def factorial(n):
f=1




Consider the Following...

def fac(N):
return N * fac(N-1) # Yes, this is legal!

print(fac(4))

What happens when fac(4) is called?
A. It blows up! Does not compute! Does not compute!

B. Itreturns the correct result (i.e. 24)

C. The execution never stops (i.e. infinite loop) m

D. It produces a return value but that value is incorrect (i.e. not 24)
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Just ‘Cause It’s Legal,
Doesn’t Mean It's Good Codel!!

def fac(N):
return N * fac(N-1) # Yes, this is legal!

This goes on and on into an infinite loop!
Q: Why? o
A: It’s missing a “base case” ) “WE "EEP Tll H

(a.k.a a “stopping case”)

Q2: What’s a good “base case” here?
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def fac(N):

Under the Hood... N e

>>> fac(1)
| get:

>>> fac(5)

3/10/19

else:
return N * fac(N-1)

# easy-peasy

Every step, the new
> G * fac(4) values are put into the

35*(4* fac3) T bt
=5 * (4 * (3 * fac(2)))

> 5*(4*(3*(2*fac(1))))

S>5%(4%(3*(2*1))) =120
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DEMO
def. Fibo(m): TIME!

return O
if n ==
return 1
else: # is this else necessary?

return fibo(n-1) + fibo(n-2)










